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n(E)dE =
-E/kT
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wll7(7.40yi&l8  -$ '3116

-XE,$~,B  = 0 . . . . . . . . . . (7.41)

unud7~nJlun??c7.40,u~~(7.41)~~~~~~~~~(7.37)~~~~

XCln(gitn,)-ln  n,-a-BE,1  nI = 0 . . . . . . . . . . (7.42)

n"l Jn,  f 0 7~~6ti?N?Wi79  q 1U?SL$ULTi7fiu 0 CiG

ln(g,tn,!-inn,-a-BE,  = 0

In = atBE,

g,+n, = e
a+8E,

n,

2
Ltl=e

atBE,

"i

n, = g*

e
a+8E,

- 1
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W = T,p(n)  =
lT,r(gi+n,- l)!

*--L n,! cg,-17!  ..*.....(7.44)
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uat: -BCE,dn,  =  0

,~a~77n~Un7~(7.6s,;U~~~~~~~

LX  -In
[

n,+ln(g,-n,)-a-BE,  Jn,  =  0
1

. . . . . (7.66)

lun77(?.66)ti7  dn,  # 0 7rz‘l~<7

-In  n,tln(g,-n,)-a-BE,  =  0

do
8i=e

atBE
't1

"i

Guwti ni = g, . . . . . . . . . . (7.67)
a+8E,

e +I
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Uaai;l  a= -1 WIGI  2 = -1
8,
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iiI= 1

8, e
(E,-y)/kbT

+ 1

Thermodynaeics  probability of the macrostate (a) R?w\i7

7:: L au
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n
(g,+n,-l)!

e--1: = w,-, = n,
(fz,-111 n,!.

n = w,-, = n,
P,!

r--D
(gs-"r)l n,l. *
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